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Eva has
exchanged from
the hundred
column to the
ones so there are
106 ones in the
ones column. She
should have
exchanged 1
hundred for 10
tens and then 1ten
for 10 ones.

406 —289 =117
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Jack hasn't used
zero as a place
holder in the tens
column.

The correct
answer should be
749
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The smallest
difference is 222
from rolling 111

The largest
difference is 777
from rolling 666

Children will never
have a multiple of
10 because you
can'troll an 8 to
subtract 8 ones.

Children may
investigate what is
subtracted in the
ones column to
make odd and even
numbers.
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2. Write <> or = to make these

644 © 645
6+4 O 346
-4 &S 12-s5
-1 & 12-4

3. Use column method to solve.
these calculations:

@2%053=77
087-62-95
04503-0)
06-2-35
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ssi+600 = 4014590
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PRIMARY SCHOOL

Creats, discover and succeed together




